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Agoim via sepordtion of varmalfles , i.e., U(x,t)=F0)gLe)
(thio frum saksg-m B.C.& BDD. b met I.C. o called
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s fea)+ o’fa)=0 ) separaked fomog.

Bf o) + pf16)=0" FRobin B.C.

where pe C'la,bd, §,weCla,b], all real-vulued,

>0, wW>0 onla,b], do,8€R and the cased

od=ct'=0 oamd B=p=0 are eccluded.

Ex. Inthe H.C. problem, p(x)=%, §(¥)=0, W)=,

a=0, b=0, p=0, p*0.

Bl umfotindtely , the H.C. proflewe io not am RSL prob.

amee {=’=0 " (i.e., mo B.C. ot x=0).

Def. A AA/ngMoQM Stuwwi-Leowillo pyptem consists

aga.'D.E.anaﬁaIfaV ew L tosether

with 'CL\L-FONWa type f B.C,: L =(abl e b
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(pf’ )"+ (Aw+§)f =0 ()

SSL:< Bfe) + ) =0 it I=(a,b]
dfa)+ ’fa) =0 it I=[a,b)
§:bdd om Tbul'npB.C. if I=Ca,bd
whre peC'La,bl, §,w € CLa,b]
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P(b) =0 g]c I= [a, b)
P)=Pb>)=0 if I=(a,b).

The DEs wn RSL/SSL may Lok ppecond
ond rathec Lo fed 1o a?bui’ thots not the case.
One com Comverl o rather general DE to thio foum.
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